WEH SERIES SOLENOID PILOT OPERATED DIRECTIONAL VALVES

WEH series are solenoid pilot operated spool type valves. This series are

used to control the start, stop and direction of flow.

4WEH10 H E 50/ O G24 N ET S 74 /B8 P45 DL V *

’f For further details

No code=NBR seals for petroleum oils
V=Phosphate ester

Size 10; 16; 25; 32

No code=Spring return
H=Hydraulic return

No code=Without ratio pressure reducing valve
D1=With ratio pressure reducing valve

See the function symbol of spool valve

Series 20=Size 10; Series 50=Size16-32

No code=Without pilot pressure
P0.45=With pilot pressure

O=Without spring return cracking pressure is 0.45MPa
OF=Without spring return, with detent

Omit if without plug-in throttleer
B0.8=Throttle orifice size 0.8

No code=Without manual overrides B12=Throttle orifice size 1.2
N=With manual overrides B15=Throttle orifice size 1.5

No code=Externally pilot , externally drained

E=Internally pilot, externally drained Z4=Quadrate plug  Z5=Large quadrate plug
ET= Internally pilot, internally drained No code=Without pilot adjustment
T= Externally pilot, internally drained S=With meter-in pilot adjustment
Technical data S1=With meter-out pilot adjustment
Size 10 16 25 32
Max. operating pres sure P. A. B. 28 28 28 28
Externally drained 1.6 25 25 25
T (Port) MPa Internally drained AC-10 AC-10 AC-10 AC-10
DC -16 DC -16 DC -16 DC -16
AC -10 AC -10 AC -10 AC -10
Y (Port) MPa Externally drained DC -16 DC -16 DC -16 DC -16
Min. pilot pressure (MPa) 0.45-1 0.45-1.3 0.45-1 0.45-1

Max. flow rate (L/min.) 160 300 650 1100


NICOLA

NICOLA
28

NICOLA

NICOLA
28

NICOLA
28

NICOLA
28


'
-

WH

D Spool symbols

WH

WEH

A B
”

WEH

B
nin

-H-/

A B
A

Ll

ISk

EA

AL

AL
IS

=Y
X

AL

-H-/0

B

A
'Alnlk‘

2]

B

A

S SKAREES

FB

FB

L

F

-H-/OF

T

P

B

=

X[

A

B

>

JA

A=

A

B
B

7

LA
MA

A=

A=l

A
A

PB

~

T

PA

LX)
AT

QB

i

QA

X

-/-

WH

WEH

B
‘x‘nn(m

RB

RA

AL

X H
Li=lX
AL

T

A B

8

X

A

TA

i)

AL

-H-/-

uB

UA

ol ]
a1l

ol

VA

Xl

Al

WB

WA

X

AT

SB

SA

X

S

Anl=

Note: Only WEH 16 with S spool



D Pilot fluid supply

E T :_ P Main valve

<

N\

N\
<

ﬁh\ ]

WEH10 explanation partial drawing

WEH 10

1. Internal pilot and external pilot: The “P” port with M6 screw (3) is external pilot, to convert valve into internal pilot, the M6 screw
(3) must be removed.
2. Internal drain and external drain: Removing the bolt (1), to install M6 screw (2) is external drain.

1\\ ~]
X P- P AN K
\ /'/ TXZZZAR
2 i L.
o) Main valve Internal pilot
Y Cover
b —
/
1|
L/ .

External pilot

WEH]16 explanation partial drawing
WEH16

1. Internal pilot and external pilot: Removing the sideward cover, installing the pin to allow “P“port with open position is internal
pilot, to convert the pininto “P” port with plugged position is external drain.

2. Internal drain and external drain: Removing the bolt (1) and installing M6 screw (2) is external drain, unscrew the M6 screw
(2) is internal drain.


NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA


Pilot fluid supply

C

p
f QN r@ ,
— A0
% % @ ég \%
\. ) A//
% Main valve T
/ -
WEH25 WEH25 explanation partial drawing

1. Internal pilot and external pilot
Removing the sideward cover, installing M6 screw (1) is external pilot, unscrew the M6 screw (2) is internal pilot.
2. Internal drain and external drain

Removing the M6 screw (2) in the “T" port on the top of main valve is internal drain; installing the M6 screw (2) is external
drain.

WEH32
2 1
§ \y /_
T N LB
e e
2|
tg2s -
v
%t | |
T P 1. Internal pilot and external pilot
Installing the M6 screw (1) in the “P” port on the top of main valve
is external pilot; removing the M6 screw (1) is internal pilot.
2. Internal drain and external drain
Removing the M6 screw (2) in the “T"port on the top of main valve
WEH32 explanation partial drawing is external drain; installing the M6 screw (2) is internal drain.

NOTE: 1.The “X" porton the base plate must be plugged if internal pilot.
2. The” Y port on the base plate must be plugged if internal drain.


NICOLA

NICOLA

NICOLA


D Pressure drop vs. flow curves

(MPa)Pressure drop

(MPa)Pressure difference

WEH 10
76 5
:: g) / 4 Middle Flow direction
' A 3 st AT [ BT | P-T | [wosws P-A [ P-B | AT [ B-T
0.8 77 2 F 3 6 E 1 2 4 5
0 C 7 F [ 1 [ 4 I | 1
| va s T
o P ! > T 1 2 [ 1] 3
0.2 Z T 7
% 3 3 L 2 3 1 4
M 4 4 3 4
40 80 120 160 p 4 1 3 4
Flow (L/min) Q 2 2 3 5
R 2 3 3 5
T 4 2 2 6
U 3 3 3 4
4 2 2 3 5
W 2 2 3 5
WEH 16
E spool G & T spool P-T
14 14 B-T
12 BT o 12 7 A-T
- o -
1.0 A-T GC) 1.0 P-A
0.8 P-B £ 08
P-A S P-B
0.6 e 06 /
04 g 04
0.2 2 02
©
o
=
0 50 100 150 200 250 300 0 50 100 150 200 250 300
Flow (L/min) Flow (L/min)
S spool P-T B-A R spool B-A
14 14
12 12
1.0 // / g 10 / AT
08 / T 08 / P-B
(9] -
0.6 £ 06 P-A
o /
0.4 / 5 04
0.2 o 02
a _ %
©
0 50 100 150 200 250 300 g 0 50 100 150 200 250 300

(MPa)Pressure difference

Flow (L/min)

Flow (L/min)


NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA


D Pressure drop vs. flow curves

(MPa)Pressure drop

WEH 25
14 8 /7 6 /5
: 4808
1.0 //// 4 %/// 42
0.8 4 /,// 1
0.6 /',// /// g A
0.4 was. éé -~
0.2 7 z%

=T

0 100 200 300 400 500 600

Flow (L/min)

Point 7 is spool on the middle position, flow P-T

Point 8 is spool on the middle position, flow P-T

D Pressure drop vs. flow curves

(MPa)Pressure drop

(MPa)Pressure drop

1.8
1.6
14
1.2
1.0
0.8
0.6
0.4
0.2

1.8
1.6
14
1.2
1.0
0.8
0.6
0.4
0.2

E,R & W spool
B-A'
B-T?
V
/ A-T
P-A
P-B
1
0 120 240 360 480 600 720 840 960 1100
Flow (L/min)

0 120 240 360 480 600 720 840 960 1100

Flow

(L/min)

Flow direction

Spoolsymbols( - P—A | P-B [ A-T | B-T

E 1 1 1 3

F 1 4 3 3

G 3 1 2 4

H 4 4 3 4

J 2 2 3 5)

L 2 2 3 3

M 4 4 1 4

p 4 1 1 5)

Q 2 2 3 5)

R 2 1 1

U 2 1 1 6

V 4 4 3 6

W 1 1 1 3

T 3 1 2 4

G & T spool B-T

1.8 V4

1.6 _
o 14 // -
£ 12 4 A-T
g 10 ~ P-A
§ 0.8 L P-B
S 06
5 o ==
< 02

0 120 240 360 480 600 720 840 960 1100
Flow (L/min)

1 only for R spool

2 not for R spool


NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA

NICOLA


D Installation dimensions

WEH 10
108
61.9
54
50.8
37.3
27 27
16.7
3.2 7.9
©
™
2-97 () p(\ ) -
N -
o) U lleo—HE.
AN | TNB © & ol o
-1 1 B - T < |~
A Ny
oD T T Dy
\_/ ‘
5-@10.5
o a
~ | 4-m6 7
|
\
WEH 25
168
130
100.6
76.8
53
29.2
[i7.3
18 5.6
© o o
@ - Pf -
@22
N
0| O |
ol @
AQ Bf 3-224.5 N
@ O o |5
6-M12

WEH 16
138
101.6
88.1
76.6
65.9
50
34.1
18_[18.3 @
C\ [l )
JT \ /ﬁ UV
X
.| OHD
L o
R e 206 | legs
3020 A B o B8
1| D
vy 8
V) ) SI
AN & U
©
WEH 32
233.5
190.5
168.5
147.5
114.5
82.
76
21.5, 41.5
© far far
D NG N
(Y 1oy
PANRNVAR-
U
234
&) 85
o o0 | A 5N -
R D
"2[ X\ U ol
S N 5238 ) )
N\ N\

6-M20






